CIC-2(E+H)

CERTIFICATE IN COMPUTING (CIC)
Term-End Examination

June, 2007

CIC-2 : THE TECHNOLOGY

Time : 2 hours v ’ o Maximum Marks : 100

" Note :
(1) Do not start answering until the invigilator asks you to start.

(ii) Question paper contains 100 questions. Student is required to answer all the questions.
There is no choice. ‘

(iii) All questions carry equal marks.

(iv). Each question must be given one answer only. If more than one answer is marked or
given, zero mark will be awarded for that question. '

A Multiple Choice (Questions number 1 to 50)

Note : - Four choices are given for a question, out of which one choice may be correct. Mark
correct answer in relevant column of the answer sheet given to you. In case you feel that
none of the choices given in a question is correct, mark in column 0.

. L Who is éccredited with developing the architecture- of modern computer ?

- (1) Bill Gates
(2) Blaise Pascal
(3) dJohn Von Neumann
(4) Sir Clive Sinclair

2. A computer virus named ‘Eddie’ is also known as

(1) Stoned
(2) Fellowship
(3) Dark Avenger
(4) 15XX
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3. Alan Turing developed a computing machine to break German codes during World War 1II,
which was called '

(1) ENIAC  (2) UNIVAC
(3) Collosus © (4 Ada
4. RAM

(1) cannot be changed by the user

(2) is non-volatile '

(3) is used in both primary and secondary' memory devices
(4) All of the above

5. Parallel compuﬁng systems designed to simulate the human brain are called
(1) Neural Networks : ‘ (2) Expert Systems
(3) Knowledge Bases. (4) Knowledge Engineers

6. A virus during the attack phase
(1) creates copies of itself
(2) does nothing
- (3) causes Windows to fail to start up
(4) infects the host computer

7. To search the largest collection of web pages for information on ‘Black Holes’ you would first

use a
(1) Encyclopaedia (2) Search Engine
(3) Web dictionary (4) Portal

8. The largest, fastest and most expensive type of computer is
(1) Personal ‘ : (2) Server
(3) Super (4) Mini computer

9. A computer which links several PCs together in a network is called
(1) Mini computer ‘ (2) Server
(3) Client : ' (4) Mainframe

10. The most commonly used input device is
(1) Keyboard (2) Mouse
"(3) Scanner (4) Monitor

11. GIGO stands for
(1) Garbage Input, Garbage Output
(2) Gigabytes In, Gigabytes Out
(3) Garbage In, Garbage Out
(4) None of the above
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13.

14.

17.

18.

- 19.

The keys on the keyboard which do:special tasks are
(1) Arrow keys (2) Numeric keys
(3) Function keys . (4) Navigation keys

A mouse, trackball and joystick are the examples of

(1) Pointing devices (2) Pen Input devices
T
(3) Data Collection devices (4) Multimedia devices
The term Multimedia refers to AR

(1) Combination of sound and images with text and graphics
(2) Combination of sound and images only

(3) Music only B

(4) Movies with sound only-.

VDT refers to

(1) Vital Data Transfer
(2) Virtual Data Transfer . )
(8) Video Desk Terminal e o : !
(4) Video Display Terminal

Information processing cycle includes

(1) Input, processing, output, storage

(2)  Input, output, manipulation, arithmetic
(3) Data, processing, printing, editing

(4) Storage, display, data, information

CPU stands for ; ' : o

(1) Core Packet Unit RN
(2) Clock Picket Unit

(3) Central Product Unit

(4) Central Processing Unit

One megabyte is equal to kilobytes.
(1) 100 _(2) 1000
3) 1024 : (4) 1024 x 1024

The name of the location of a particular piece of data is its
(1) address
(2) memory name

(3) storage site

(4) data location
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20.

21.

22.

23.

24.

25.

26.

- 27.

A dot matrix printer uses to form letters.
(1) bars (2) codes
(3) pins (4) daisy wheels

A laser printer is an example of
(1) Dot matrix printer

(2) Daisy wheel printer

(3) Chain printer

(4) Non-impact printer

A individual dot on a computer screen is called
(1) Character (2) Screen point
(3) Font (4) Pixel

When a computer prints a report, it is called
(1) Hard copy (2) Soft copy
(3 COM (4) None of the above

What do you need for an inkjet printer ?
(1) Cartridge (2) Drum
(3) Ribbon : (4) Laser

The programming language best for mathematical models is

(1) FORTRAN , (2) Java

i

(3) BASIC (4) COBOL

The most widely used language for business is
(1)) FORTRAN (2) Java
(3) BASIC (4) COBOL

The process of writing computer instructions is called
(1) coding (2) compiling
(3) debugging ‘ (4) interpreting
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28.

29.

30.

31.

32.

33.

34.

Tape storage is primarily used for
(1) back-ups

(2) installing new programs

(3) rarely used software

(4) None of the above

The drive that receives a diskette is the .
(1) Floppy drive (2) CD-ROM drive
(8) Zip drive (4) Hard drive

A device that provides emergency power to your computer, conditions the voltage and
protects against power surges is a

(1) Power Supply Unit

(2) Universal Surge Protector

(3) Universal Power Protection and Supply
(4) Uninterrupted Power Supply

ALANisa
(1) Long Array Network

(.2) Local Area Network
(8) Line Area Network
(4) None of the above

To move a copy of a file from one computer to another over a communications channel is
called ‘ ,

(1) File compression (2) File encryption

(3) Terminal emulation | (4) File transfer

The device that converts power from a wall outlet to the type that the computer needs is

(1) Power Source

(2) Power Supply

(3) Power Converter

(4) UPS

The raw facts are called

(1) data - (2) prografns

(3) commands ‘ ' (4) user responses
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35.

36.

37.

38.

39.

40.

41.

.42,

43.

Peripheral devices are also called
(1) T/O Devices

(2) Hard Disks

(3) Primary Memory

(4) Control Unit

A price list is an example of
(1) Word (2) Access
(3) Excel (4) PowerPoint

‘ is a DBMS package. ,
(1) Oracle ‘ (2) MS-Access
(3) DB2 (4) All of the above-

Assembly language is a
(1) Machine language (2) Low level language
(3) High level language ' (4) 4GL

Collection of same type of data, referenced by same name is
(1) Variable - (2) Address
(3) Array : (4) . Data type

Which of the following is used to connect 2 LANs using same LAN protocols over a wide
area ?

1) Routér ‘ (2) Bridges
(3) Gateways (4) None of the above

A system that supports two or more activ_e processes simultaneously is a
(1)  Multiuser system (2) Multitasking system
(3)  Multiprogramming system (4) All of the above

WYSIWYG expands to

(1) When Your System Invents What You Get

(2) What You See Is What You Get

(3) Windowing Your System Invents Windows for Your Graphics
(4) None of the above

CASE is

(1) Computer Aided System Engineering
(2) Computer And System Engineering
(3) Computer Aided Software Engineéring
(4) Computer And Software Eﬁg’ineering
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44,

45.

46.

47.

48.

49.

50.

ASCII is

(1)  American Standard Code for Information Interchange
(2) American Software Code for Information Interchange
(3) Amierican Software Code for International Information
(4) Arithmetic Standard Code for International Information

Twisted wire, coaxial cable and microwave are types of transmission
(1) Chains _ : (2) Media
(3) Data : (4) Information

Fibre optics have the advantage of
(1) being cheaper to install ‘
(2) being easier to install

{3) having no interference

(4) wusing direct line of sight

The Second Generation Computers started with the advent of -
(1) ICs

(2) Transistors

(3) ENIAC

(4) PCs

8088 is a bit chip.

(1) 8/8 (2) 8/16

(3) 16/16 . . (4) 16/32

MEDHA is a

1) PC ) . (2) Mini computer
(3) Mainframe ' (4) Super computer

- The example of main memory is
(1) ROM
- (2) Hard Disk

(3) RAM
(4) Magnetic Tape
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B State whether True or False (Questions number 51 ?o 100)

Note: - In the following 50 questions, mark 1, if the statement given is true and 0 if thg statement
given is false.

51. Charles Babbage designed the difference engine as well as analytical engine.

52. ENIAC used the concept of ICs.

55. Today’s computer designs ére based on the concepts developed by‘ Blaise Pascal.

54. 8086 and 8088 were introd;xced’by Motorola.

55. Super computers are the fastest machines and use multiprocessing techniques. »

56. A word on PC 386 is equal to one byte.

57. A byte is equal to 8 bits and can represent a character internally.

58. An interrupt generated by clock is known as Timer interrupt.

59. Random Access Memory is sequential access.

60.  Semiconductor memories are non-volatile in nature.

61. The secondary memory is slower than primary merﬁory but has a larger capacity.

62. PROMs can be written only once whereas ROMs can be Qritten again and again.

63. Seek time is the time to position the head on a specific track.: |

64. = Winchester disk drive is portable.

65. Cache memory increases loadl on main memory.

66. MICR is used by academic and testing institutions.

67. Plotters produce hard copy.

68. Scanners are used for outputting pictures.

69. In cases where graphical user interfaces are common, mouse should not be used.'

70. Input/Output Module is needed only for slower I/0 devices.

CIC-2(E+H) ' _ (8)



71. MIMD and MISD are the two most popular configurations.
72. Tightly coupled systems do. not have shared memory.
73. LOTUS and’VISICAL‘C are spreadsheet softwares.
74. Examples of DTP packages are Ingress and Unify.
75‘_ Machine language is written in binary numbers.
76. Interpreter reads the program statementwise and produces syntactical errors.
7?. do-while loop executes at least once even if the condition is false.
78. Apple computer popularised user interface through Macintosh.
79. | Windows does not have the facility of Child Windows.
80. DES specifies a method for encrypting 64 bit blocks of plain text into cipher text.
81. Viruses do not affect RAM.
82. Trojans do not infect other softwares.
83. Brain virus is also called Pakistani virus.
84 UNIX is developed in C.
85. DMA is Digital Memory Access.
86. - Raindrops virus infects .COM files.

87. C++ and Java are the examples of procedufal high level languages.

' 88. CRAY is a super computer.

' 89. Any time an e-mail is sent, a Website is accessed or Internet banking is used, information
about Internet use is illegally captured by Website owners.

90. Files with extension .gif, .jpg are likely to be pictures.
91. In half duplex mode communication channel is used in one direction only.

92. Multiplexer allows multiple communication channels to send many transmissions at the
' same time.
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93. Gateways are used to connect two dissimilar LANs.
94. Routers connect two similar LANs.

95. Baud/bps is the unit of measurement of data rate.
96. Daisy wheel printer is a non-impact printer.

97. Pipelined processing improves system throughput.
98. Assembly language programs are portable.

99. Data type refers to type of data.

100. Examples of Time sharing systems are flight control, military applications etc.
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. 10.

11.

wqmﬁmmg%mwmmm%mmmmm
#, R el S @

(1) ENIAC ~ (2) UNIVAC
(3) wiATEY (4) UsT
RAM o

(1) SR F FN T a€en S g
(2) 3Bl (non-volatile) &
3) wend o Vet A Al feawfow § wom S ¥

@ 9w Tt
WW@%W%WWW@MMDWWHWW% -
(1 ATEeh @ fvg 4

(3) M 3MER (4) IH gSifrad

STHHAYT ST & SN AT

() EE R wffatEt g wwar @
(2 B T W R
3 Ged ¥ el # fave awar

(@) TE AT FrgT B Yol

i A mw%ﬁqé&q@r%mwﬁ@am%mm%ﬁ
TN S B

(1) fovaame @ @ @N S H

@ ¥ IR H (4) HgR (9Ea)

(1) TETE 2) IREas

3) W ' @ s
TR S dead ¥ #E pes B T WY G e g, FEAT 8

1) il Frege (@ Rdew

(3) TEH (4) geg FN

W S AR W Yge faw g &

(1) FE (Keyboard) (2) HRYH (Mouse)

(3) W (Scanner)  (4) TET (Monitor)

GIGO &1 374

(1) e YL, e 38CYE (Garbage Input, Garbage Output)

2) fTEREE 39, frTERed 18T (Gigabytes In, Gigabytes Out)
(3) e 3, TS 3REe (Garbage In, Garbage Out)

@ 39w ¥ 9 a9 T

CIC-2(E+H) (14)



2 gefed w e SRR aE W § |
‘ 1) dR ghwt § ) deEs ghwE €

@) s FhwEt @ e R €
13. mim?aaﬁta?ummm% |

O TS g & | @ wEd-faw g &

(3) oAFg GV IReA & ) wieedfe gfedl &

14, V= AfeHfed w1 ey 2
(1) weE el miteer ¥ i ol s & dESH
@ Faa @fy iR sfafEl & gEem
(3) Fad wia
(4) IO \gH Tare
15. VDT &l o4 @

(1) 918 ST W (Vital Data Transfer)
(2) Eléeﬂ'ﬁ BT TEW (Virtual Data Transfer)
3) difedl 2 A (Video Desk Terminal)
4) difed feomt zfima (Video Display Terminal)
16.  GE HuEA wh § wnfie §
@ FEw, dawE, fofe, dero
@ faw, frim, s&ed, e[
(3) ARSI, GHEH, HKUT, W
(4) YSRUI, W, 3Hihel, I
17. CPU I 39 2
(1) HR Fhe g
@ g e e
(@) HHF IAR e
@) g g gfFe

18. & NERES SO @ l
(1, 100 2) 1000
(3) 1024 (4) 1024 x 1024
19. 3%E ¥ faRy W & sl @ AW & U
Q)
@ Hfa ™
(3) HERU Wd
(4) 3T Sraffd
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20. g AEHW (dot matrix) BreX 38R TR ¥ fore ‘ FANT T @ |

1) Yawd @2 s

@) f ' (4) st um
21. AR BT 3R @

1) g Heaw B @

) S (daisy) T = &
(3) 9@l (chain) X &
(4) GIE (non-impact) BT &

22. FR WA W Ay g Feemr @
(1) Hydis @) B fag
3) W @ fere

23. V& FIR e fire @ 8, W Fwemr &
(1) HYSHIT S (hard copy) 2 Yg AT (soft copy)

(3) COM 4) 39 ¥ q FE A&
24, ¥ROIC (VE-TUR) BT & AU oos frge sTevasdr a1t & 2
1 FES | @ § -
3 Rea= (4) R
25. mm.%mmmmwé
(1) WHIEH (FORTRAN) (2) WAl (Java)
3) afEF (BASIC) (4) & (COBOL)

26. TR & fIT wa@ sifee =mvs &9 ¥ e ww @

(1) WM (FORTRAN) (2) WET (Java)

@) g (BASIC) (4) FEE (COBOL)
27. FHI I AGH H IRRAT FEer

(1) FET (coding) (2) SIS (compiling)

(3) AYAFH (debugging) @) & (interpreting)
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28.

29.

~ 30.

31.

32.

33.

34.

239 WeRY qEATA I AT ST 2
D ‘{ﬁﬂ (Back-ups)a; faq

@) AT FARY AW F F g
@ e & e d@weam F g

@ 394w § 9 FE T

) oA feW@e Ww T ], 9 8 |

1) FAd g | (2) CD-ROM $&d
@ s @ o gma

4t ¥ T 2, 9% @

) o omgfd gfe

@) 9d T WE

L@ wE fargq s el ey

(4) Ea faem omyfd

LAN 2

(1) fﬁf Tt ATk (Long Array Network)
(2) Eoice e m (Local Area Network)
(3) @I &7 A% (Line Area Network)

@ mﬁﬁﬁﬁﬁiaﬁ

A A R T L Y g wEe # affly HEn F e @
o wEA g (@ WEE TEAG (encryption)

(8) A FArge (4) FEA TR

'GﬁgﬁsfagqaﬁaraaBzaE(wanouuet)ﬁwmﬁqﬁaﬁam%ﬁwW
& EvEET 2, 9% I 8 »

v FEgEa
) faea smyfd

@) fogq weds

(4) UPS
e e Fee €

(1) 3iweT (2) SRATREI

(3) HHRN (4) STARH aagm
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35. 3Iulfs giwdl & 9 off a1 S @

(1) VO gfwal
(2) HYSHE f6%h (Hard disks)

(3) WgHE: Tfd (Primary Memory)

(4) frgaor g
36. o9 g 3T @ |
1) aé(Word) &l : 2) 3y (Access) &l
(3) U (Excel) & - (4) UER@IES (PowerPoint)
37. DBMS I & |
(1) 3%13»?*[ "(2) MS-Access
(3 DB2 4) 39gwh Wl
38.  FISIROT W 3
(1) TR 9T " ) fa-w=dg am
(3) =TT W (4) 4GL
39. UF & VHR ¥ ofihgl wedl & GUEV, U & AW ¥ wefia ?
(1 it 2 gl
(3) TR ' (4) off®el &Y

40. ﬁwﬁ@aﬁ@mﬁ%ﬁwLmWWﬁwmmngLmsm
| aﬁ%f‘mmﬁwmé? :

W% (Router) (2 9q (Bridges)
(3) AT (Gateways) @ 399w H ¥ FE @
a1, S dF @ o oy Wi wBRARl # WiY-wY WEEd & 8, 98 @
(1) FgITERH T | (2 TgEE @
(3) WEHURYE oF © (@ 39w wd

42. WYSIWYG, & fa&ga &9 2
‘ (1) When Your System Invents What You Get

(2) What You See Is What You Get
(3) Windowing Your System Invents Windows foi Your Graphlcs
@) IF A § FE T

43. CASE®
1 Wﬁ@g fawen fafraf (Computer Aided System Engineering)
-(2) S UTs fawen fafaftn (Computer And System Engineering)
(3) © P Q'@g m{ gﬁﬂﬁZIﬁ"T (Computer Aided Software Engineering)
(4) S Ts e HEIGRIEI (Computer And Software Engineering)
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44.

45.

46.

47.

48.

49.

50.

AscIr 3

()] T Cuee e T mﬁ 3?@3 (Amencan Standard Code for Informatlon i

Interchange)

2) amfiE 'HTW%ZR ﬁg TR mﬁﬂq m (Amencan Software Code for Information

Interchange)

(3‘) A GRAIW @i HiT 3?'@'3?@ sjﬁﬁ?'ﬂ (American Software Code for

" International Information)

4) Ffafers Lrgd FE TR qu'(’f 37‘#&‘\’1? (Arithmetic Standard Code -for

International Information)

Srafia AN, T A s MR w3 e

SORE 1| @) e
(3) 3wy @ g
wER Sifead W oo &

(1) ST AT MF T 7

@) SAUSII FE Al I 2

@) e 5y Y@ v W @
q&ﬁﬁgﬁmmwgan

1) ICs & IfosR &

2 vl & nfasr 9
(3) ENIAC & 37fa=R ¥

(4 PCs % IR §

8088 __ fre R 2 | ’
L w8 @) 8/16

(3) 16/16 @ 16032
MEDHA® | .

L qH ' , @) W
(3) TG TR (THA) @) TR FEH

g@qgﬁaﬂm?

@) T (ROM)

(2) YUSHg f&&F (Hard Disk)
@ W ®AM)
(4) W %q (Magnetic Tape)
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T :

51.
52.

53.
54.

55.

56.
57.

'58.

59.
60.

61.

62.
63.
64.
 65.
66.
67.

68.

69.

70.

mvﬁ%wm(mﬁ. 51 € 100 )

9 50 797 o@ @ & | AT feAr T FgA G& & a1 sifEd W, S 3 FH
W 0 3ifFd &, ZT/E'WWE:?/ ‘

mmawmmmmmmmmwm
ENIAC 3 IC F 3G8RUT TH H |

m%w%%ﬁmmwmmﬁmﬁmaﬂmﬁﬁél |
8086 3 8088 MR FN Yafdd &Y T & |

g‘l’( HFY RECEE e gadq LNIC] % 3k FEHATYA (multiprocessing) TR AT
|

PC 386 W & VK UF a5 & W& el @ | | |

T 9152 8 ol & R ® S e w9 § Wwelte Fref TRt @

FHIEAE (clock) BT SUF 3{AF (interrupt) FHl tﬂmrlﬂ 3T (Timer interrupt) % 9 ﬁ'
SICIRS

Ffeos HWM T (Random Access Memory) 3Tgfih 3 2 |

areferern Wftal @e9 § @R (non-volatile) € |

EGIRES (Secqndary) Fifﬁ i (primary) Sfd &I 31den 3ifys i 3 T HUF geg
e 7 | | |

PROMs 3961 T% R fof@ W1 @s%a & S&fh ROMs SR-9R fo@ o1 ¥&ha ¢ |

HFYERTT F (seek time) FARTE 77 W ¥ foq w3 = w77 € |

frret fom gea awta @

0wt 7e1 i | IR Terl 2 |

MICR & ¥anT Wfereh it ooy weemell gy feram smem 2 |

AT (THe) Hys-ig wfafary = e € |

’mﬁaﬁ(Scanners)f\?ﬁ ﬁ’fﬁ?ﬁ FA & ﬂ’l’QQ’ﬂ?F [E1Y S % |

Ay MrheT ST SFIYS IWARS § @ WeW & VAN T fRa S Wi |
frrrey/forte wieger = sravawal Faa We vo IR & fog & @ |

CIC-2(E+H) (20)



1.

72.
‘73,
74.
78,
) 76.
7.
78.

79.

81.
82.
83.
84.

85.

87’

88.

89.

91.

MIMD 3t MISD & TR oifus yefed fomam & |
T § gfmg dFl H wewiTar gy T @ @ )
LOTUS 3R VISICALC forgams Siweaw & |
DrP ¥ ¥ TaEr S ok g §

. o W fiemard demed ¥ fardt W @

Fe% (Interpreter) FHRY FITAR Tgar & 3 ar-Ta el S T @ |

do-while T FH-8-%7 TF IR fsare otar @ 9ol & sfowy 7o & |

TS R A AR N SUARE TS Sl & |

el § ages favele @t gl & a @

. DES 9RW U3 ¥ WM B ¥ 64 fo @UE & gaad @ fafy e @ €

I RAM & I T A F

I o STl ® T 9 S § |

3 A B TR AR S w S R |

It ¢ ¥ fomfad e T 8

DMA 2, Digital Memory Acéess.

g AR .coM RSl F skl e @ |

C++ 3 ST (Java) TRFATCHS Io-TT 9T & IOl ¢ |
% (CRAY) TH YW F ¢ | | |

Rt ot W Sw €99 A1 W @, Jewrge s @ S @ W et IR W
# W R, T WA & 9 A g R-FLH 0 F Jqwne F A w0 e #

SRR

gif, jpg PR Ofeq wEell & fom @ & dwa ¢ |
ad 2y faur ¥ ORI Faa & fwn ¥ g A oS @

;gwmmmﬁplexer)agﬁmm%wﬁaﬁ@éwagaﬁwﬁaﬁﬁa@rﬁréﬁv .
|
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93. mﬁ(aatewaﬁ)awmmsshsﬁ%mmmm‘&%t
94. TPH (Routers) ¥ WA LANs & Sigd ¢ |

95. dS/bps NHST T I WY I THE 2 |

96. 35 % =Y aug frex 2 |

97. URF WU 97 YqT W QURAT B |

98.  HISICHUT WIS FHARY Hogd & |

99. IH FEY F TEH IFHST F T&I T ¢ |

100. FE HISH (Time sharing) T % IAEWT — IgH FrAwT, F=1 TPl g & 1
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